AlynCar E|Waterline

Toll Free Phone: 800.263.7011 Toll Free Phone: 800.361.3773
Toll Free Fax: 800.459.6227 Fax: 905.625.9481

Part / Piéce #

PARTS BREAKDOWN 11369

Parts for Moen® Universal Trim Kit

QUANTITY
PARTY# ITEM INCLUDED

E #8-32 x 1.75" SCREW
F FACEPLATE
G DIVERTER PLUG

H1 FACEPLATE INSERT
H2 FACEPLATE INSERT
H3 FACEPLATE INSERT

I1 TUBE GASKET
12 ‘TUBE GASKET

FACEPLATE GASKET
O-RING

DIVERTER FOAM GASKET
STEM WASHER
BUSHING

STOP

HANDLE ADAPTER
#10-24 x 1-1/4” SCREW
LEVER HANDLE
#6-32x 5/8” SCREW
PLASTIC HANDLE
#10-24 x 1/2” SCREW

LOCK WASHER
HANDLE BUTTON
HANDLE ADAPTER

ADAPTER

THREAD LOCK

L o = Y Sy Ve ey

NN MAdeacnuomo w028 1w

www.lyncar.com | www.waterlineproducts.com



tye
Typewritten Text
PARTS BREAKDOWN

tye
Typewritten Text


	s16962.pcdn.co
	9D 10001_10002_10561_i_Moen_print




